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wrdf eferrssrer | MODEL QUESTION PAPER - 2019-2020
VIl Standard MATHEMATICS

s101p wHmid 9k e / TAMIL & ENGLISH VERSION

Gmrip: 15 mlifl_migseir + 2.00 woewf] Qrss wHli6luewrssT. 60
Time allowed: 15 Minutes + 2.00 Hours Maximum Marks: 60
Y Bleyewrser: (1) oewerrs gl allerrdseph Flwurs LFeuTd] o _srarsm sTeTLSemevT Fifl
UTi$518 Gasrererayb. dFaliuglailsy Gsnmullpliler 9swms
seThTenflliuTerfld o L eriguwirss g flailsse)Lb.
(2) Bevid V6V HHLIY ewLouilemest L (HGLD 6T(LHGI6USB D LD
4585 Ty HeusHGLD LTRSS Couswwr(hD. LIL BISH6T aUeHIaUdHM &
CueTHeL LiwesTLI(h&DH6YLD.

Instructions : (1) Check the question paper for fairness of printing. If there is
any lack of fairness, inform the Hall supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to

draw diagrams.

ugg — |/ Part -
l. sflwurer eflenL_eowd CHiho6\SH %5 4x1=4
1. Choose the correct answer
1. _TS 6T )F) % (LpM)| 6T6VTEWTT 6T H) S alweumnmleT GewL_ullev

9|6 LOUJLD
<)) 0 wHmiid _TS <) -1 wHmo 0 @) -1 wHmyb -2 ) -4 wHmib -5
_TS is a rational number which lies between

a) O0and _75 b)-1andO c¢) -1and-2 d) -4 and -5
2. TP3 wmmib (2P?)2 @)esr GlLihdasmL1svesT

o)) 14 P12 o) 28P> @) 9P> ) 11P12
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The product of 7P3 and (2p2)2 is
a) 14P12  b) 28P7 c) aP7 d) 11P12

3. Qe GsTLiT erenLigserTesr 20% wHmid 25% 9y &weunHmlh @ Fiowmest

S6T@EpHLILG FHaTHLD D GLD
o) 40% =) 45% ) 5% ) 22.5%

The Single discount which is equivalent to two successive discounts of 20% and 25% is

a) 40% b)45% €)5%  d)22.5%

4. A\ ABC ~/\ PQR, A=530 Q=77° erasflv R yers @D
o) 500 o) 600 (3))70° =) 800
If AABC ~ A PQR in which <A=53%and <Q=77° then <R is
a) 500 b)60° c) 700  d)80°
Il. Camrgl L @)L kisener BlriiLs 4x1=4
Fill in the blanks

5. -1 @etr OLIHEHEH6L CBiLOTM) 9} &HLD

The multiplicative inverse of -1 is

6. s eul L Ggletr Ol&sL1GLIMw Brest 9} GHLD

The longest chord of a circle is

7. 200, 15, 20, 103, 3, 197 @it eféar e

The range of the data 200, 15, 20, 103, 3, 197 is .

8. ugQerresrmreug LlLGsmd srevr 9} GHLD

The eleventh Fibonacci number is
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1. FAlwr? $apr? Temd gnmis.

Say True or False
9. 221 @)sir suirds cpevib 21 9y @Hib

The square root of 221 is

10. (8.5, 0) ststrm Lysirarfl] X 5F 6t 165 S ewLobBI6TTS

(8.5.0) lies on X — axis

www.TrbTnpsc.Com

4x1=4

11. 20% <y evo1(®) sul’ 1quiled yenT(HEHGSTHLpe®M UL 1y HewTdhalLLiILBID Lpewmuiled

1000 g1 3 gy emwr(hseaflsv 1331 o5 9@ L.

The time taken for 1000 to become 1331 at 20% per annum compounded annually is 3

years.

12. 2 ¢rer_salwg QT g QBT iFfwmer QBT 9y @Lb.

Inclusive series is a continuous series.

IV Qurmsgis

13.
oul L Gamewrlt Ligglullest LirliLieney 24
5x(x2-y2+xy) (45,28,53)

Uarasren epsiimest ClaT @] 6T6vTdH: 61T

o X2
_— &F. 5
360° S

144 wpmip 120 @)etr 15.ClLr.&T

5x3-5xy2+5x2y

Match the following

Area of the sector of a circle —

24

5X(x2-y2+xy) —

(45,28,53)

Pythagorean triplet —

o XTTTr2
&F. .
360° =

HCF of 144 and 120 -

5x3-5xy2+5x2y
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ugal -l / part i
sTewauGuisy|b 7 eflesrTd s ehd @ ailswLweafl (ailerm stewsr 26 @)d @ SL_L_TwIomrs
aflewL_wiafldhH6yLb) 7X2=14
Answer any 7 questions: (Question No. 26 is compulsory)
14. _71 LD,r_r')QJL'Dg )& @ @)ewL_uilsv 7CHeILD ail&lHpmi sTewsTHEDOTL LIt 19 W6l (5.

List 5 rational numbers between —%and %

15. 70 Q&.18 oy rapsiter sul_L Lomesrg| S Fio jemeysiter sul L G TenTliLIGSHerTaL
UN&s0uBSIng). Sjemeu p6ubleurssTylesT LITLILIOTeN6Ud: & T6uT%.

A circle of radius 70 cm is divided into 5 equal sectors, Find the area of each of the
sectors.

16. eflfleurd@a (2x-4y)3

Expand: (2x-4y)3

17. #hBwr spp Cxiails 70% walliGuasTEemearts GupHmTsir. jeusr GlLHM

w6 usTser 500 sresfley, Cxialer GloTds LWIH G LITHDETS &IeHTss.

Sandhiya scored 70% in an examination if her score was 500 marks find the maximum

marks of the examination.

18.3200 @)d @ 2.5% a1 suliguiled, e0T(HdHE; QRHLPOM 6L 1y HewTdaslL LB
oMU 2 oy 6H5T (5 EMhds @ HeDL_d@ LD Tt (H) EUL_I9 6D UIdS> &TEHITS5.

Find the compound interest on3200 at 2/5% p.a for 2 years, compounded annually

19. PQR @)sit 505CHTR ) ewivuidensds HeanTi_pls.

Identify the centroid of APQR

20.0sTRSSLLUL L pdhCahTentddler CHWTS LidsdbmndHd: & Tewrs.

Find the unknown side of the given triangle.
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21.0arhss0ul L alleursiseEndsd BlaLpo6leausnT LITais) L L ausnenTenild $wmi Claiis.
3,4,54,5,6,1,3,2,1,5,3,6,2,1,3,2,4
Prepare a frequency table for the data 3,4,2,4,5,6,1,3,2,1,5,3,6,2,1,3,2,4

22. gplliy stevsr =4 (Key =4) erewrd Gl messri_ 9jig1q61 wemm@GHMufH )L L cuewnewsruilsm st
(Additive cipher table) o_peurssa)ib.
Frame additive cipher table (Key = 4)

23.(9) O&T®SSLILL L gl () UIGeUSS6T LITLILIOTENEIS &T65T5.
(svsvg1)
<) LNesTeupLd efleurmbidsEnhd @, BlEpeyd GlFeususd euenTs.
difle) Gewr_Glsuafl | 0-10 | 10-20 20-30 30-40 | 40-50 50-60
LD T630T6U (T 356111 63T 5 15 23 20 10 7

6T 600T 6301] 5 61 &

a) Find the area of the combined figure given (OR)

b) Draw a histogram for the following data:

Class Interval | 0-10 10-20 20-30 30-40 40-50 50-60
No. of students | 5 15 23 20 10 7
ugg! -l / Part Il

sTemauCuisy|b 5 aflerTd s Ehe @ ailswweafl (ailerr stevsr 34 @)d @ S L TwiLrs
aflewL_weafldsHeib) 5x4=20

Answer any 5 questions (question No0.34 is compulsory )
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24. _1—110, ie , _?4 sl all&lgLpmI 6TETHEHDHdb Tn L L V| TesT GFTLILLI

uessTL emsordF FAlumir

Verify the associative property for addition of the rational numbers _1—1102_?4

25.15 16 X 8 1F 6163t yemeysirar GlFsious auigeu Blevssleir 4 cLpemevmsaflaid s edr

BOaleb 36 Ferepsirar sullHmmed LgdEeT HL_L LUl (heTerer 6TesflsD 6ThHg LI

LgeuTeYId Lpser CuwliuL g ugsluiler urliuereneud sresrs. (T = 3.14)

In a rectangular field which measures 15mx8m, cows are tied with a rope of length 3m
at four corners of the field and also at the centre. Find the area of the field where no
cows can graze. (r = 3.14)

26. it Frflevdsas sTevsTamA6HT (@)eVd5BIS NS gn DBV 8 @ ID. Sl sTevsTaw 6o
L 6T 18 & gl L Yjsuailevdasniser @)L b wrPlail (B eTevfley, oHs
6T6BOT 6 6VT > & T 6T .

The sum of the digits of a two-digit number is 8. If 18 is added to the value of the

number, its digits get reversed. Find the number.

27.5pm wimieuestiomesrg) 20 prensends@ 15 Ceuswevwirensends@ 6 @)svl Fib
QB TEWHMW eULPEHIGHEI M| 6T6vTleV, BHBIMIeUssTID O CousneVITsiTdsEHd:EH 12
[BT6IT&Eh: &) 6T6U6Te S ClSTEMHM U QILPHIELD?
If a company pays 6 lakhs for 15 workers for 20 days what would it pay for 5 workers for
12 days?
28.RU @)etr enowtiysirefl A wpmiid RN @)esr swwowiiyerefl T sresflsv A RAT~
ARUN stest plmieys.
If a is the midpoint of RU and T is the midpoint of RN, Prove that ARAT~ ARUN

29.0sTRSSLILL L G L 6uewentdh@ aul L ailerdhs UL LD 6T
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ST B | g F | rdifle | eur Gl 607 @Gl | e
& 6T wm &I 9CIwfs | 6lwfls | ur Gredlwimr ST ST
&HIT HIT

LT 30% | 20% 16% 12% 7% 6% 19%

Draw a Pie-chart for the given table

Continent | Asia | Africa | North South Europe | Australia | Antarctica
America | America

Area 30% | 20% 16% 12% 7% 6% 9%

30.Fai wewmE@EGVuTH +4 L suement G\gT@LliswLLs LweTL(HSSH ewMbgIsTer
Qrafw sursaslwGensHd &TevTd.
Fvieo mr gshiw ger fi Xvmgoc
Use Caesar cipher table set +4 and to try to solve the given secret sentence fvieo mr

gshiw ger fi xvmgc

31.(9))B6Teu@dsH60 pewmulled auidaepsvld srewrs. 418609
(6001

(<) srremiliiu®sgs. (i) 64 x 3 + 144 x 2 + 108x + 27

(ii) 27m3 — 54m?2n + 36mn2 — 8n3

a) Find the square root by long division method 418609

(or)
b) Factorize (i) 64x3+144x2+108x+27

(i) 27m3-54m2n+36mn2-8n3

ugg -1V / Part -V

TS| aildTTES @D allenL_wiefl 2x5=10

Answer all the questions
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32.(9) AB=5 Q#.15, BC = 4.5 Gl#..6, CD = 3.8 Q.16 DA = 4.4 Q&..6 wHmid AC =
6.2 Q&.15 o Flw sjereysemeard s ABCD srettn prmarid euenrbgl, ojg%eor
LTLILIaTenaud: &TeRTs. (ps0e0351)

BE =5 Q&..5 wpmid BN = 3 Q#.15 ojemeyseir Garessr BEAN eresrm GlFsususin

QUMThSI H|H6T LITLILIGTED6US & T 6307,

33.a) Construct the quadrilateral ABCD with AB=5cm, BC=4.5cm, CD=3.8cm,
DA=4.4cm and AC=6.2cm Also find its area. (or)
b) Construct a rectangle BEAN with BE=5cm, and BN=3cm. Also find its area

34. (=) P(5,3), Q (-3,3), R(-3,-4) wmmitd S oy &lwr Lysireflseir sp(h GlFsuausdens
2 _(HeuTdH@LD 6T6sflv S ()61 QUi 6B TEWEVR|BENET &T6HIT.
(=) Y = 3X s165Tm FLo6TLITL 19N & UHTLIL LD UEDT .
a) If the points P(5,3), Q (-3,3), R (-3,-4) and S form a rectangle, then find the
coordinate of S.

b) Draw the graph of Y= -3x
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